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31t & fere 3rererer /Instructions to the Candidates

1. 319 SERT a9 3Tdee # Y [T AT 3-8l 3T & HUR R 319e! faf@a ader & faw 3mfya
feram a2 &1 Tt 39 9 A el Fe=l Il wiaAfse i & A1 fremaer & Heqar 3afiiq dear
GRECCR IR IKINCIRER DRI LI C T R ARG

You have been called for the written test based on the online data fumished by you in the web application.
If you have wrongly entered in the web any information or you do not possess the required
qualification as per our advertisement, your candidature will be rejected.

2. YR, 80 TRl W P WRA-GREH F FU A § AR adiew v 3@fr 02 wEF |
The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

3. OR fawedl Gfgd avqiass TR & 9 g fGeed & b ve swfeew w0 & @y gem |

The questions will be objective type with four options out of which only one will be unambiguously correct.

4. Ycd® YT Hfaw 04 37 g 3R Icdeh ITAd 3ca hialT Uk 3 FHIeT ST |
Each question carries 04 marks and one mark will be deducted for each wrong answer.

5. WATH IR A v @l 9fd Ffgd et AvANR secr-gieae & sreetr
A separate OMR answer sheet with carbon coated copy will be provided to mark the answer options.

6. 3R, IccR-GRAH H T 1T gl & TR, #Aell/Hrel TR & did qI5e U F NTANN 3cck-
et 7 GET 3Hidel I 3ifehc X TG Seck T AT el B

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by
blue/black ball point pen.

7. UH 9T & [T 31 3ca] Ield ATAT AT |
Multiple answers for a question will be regarded as wrong answer.
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13.

14.

15.

Waﬁﬁﬁﬁgﬁﬁmﬂgﬁaw%ﬁaﬁg.aﬂmmmgﬁ?mwﬁﬁwxwwm
Riiraull

- Question booklet code printed on the top right corner should be written in the OMR answer sheet in the space

provided.

EFQRWﬁHWHTHHﬂTWHﬁ%I

Enter your Name and Roll Number correctly in the question booklet.

mmw-gﬁ?mﬁmﬂqﬁwmaﬁmﬁmﬁﬁahmﬂaﬁﬁﬁmml

All entries in the OMR answer sheet should be with bluefblack ball point pen only.

Qﬂaﬂﬁaﬁﬁﬁﬁﬁaﬁvﬁrﬁﬁmﬁaﬁmwmmmml

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

e e T Bt & JeX HEY, FIEFAC, HlAEe B JUT I FAFCIeH ST,
1R B o G A W STeeft

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be
allowed inside the written test hall.

adren qoi 8 I AR Sec-gRedsH &1 59 & e Hed & oI5 AR 7 SR
W—Wﬁﬁ%ﬁﬁm@fmﬁmwrm

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the
original OMR answer sheet to the invigilator and retain the duplicate copy with you.

gea-gRecTat et 37T OTH 1@ Thcl o |

The question booklet can be retained by the candidates.

e & ST i & g 31t B qdieT el Bl A AT eI 6|

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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T Fd A 5T & & FET AT A s FEd

The portion of the broad part without teeth in a file is known as

(a) fewTip (b) aTang

(c) HR/Edge (d) greHeel

THITeT e FISA A &d Ud e ST & ST HT HIOT .............. gl
- The angle between the teeth and the centre line in single cut file is

(@) 30° ‘ (b)  60°

(c) 90° (d) 70°

TET HE FIEA BT THN oo gl

The shape of a rasp cut file is

(a) o/ Triangular (b) FAT/Flat

(c) 3¢ FMe/Half round (d) IMe/Round

FAMAFT IT Frger T Heg 1 GINRIT T S el & [T Ggohed FUTHAT 3T ..... gl

A precision instrument used for checking squareness of machined or filed surfaces

(a) HAEBHHCYMicrometer (b) afFaX HfAW/Vernier calliper

(c) ga= FTry Square (d) & w/Steel rule
ma@%mmmﬁmﬁwmgwwmaﬁ .............
FEd ¢l

Permanent marks made by placing punch marks at convenient intervals along a marked line is
known as

(a) T&fea ”™eEs/Punch marks (b) @l g/ Witness marks

(c) o3« R&/Line marks (d) T3 RES/Drill marks
areTRoT ST R & T o YhR & BT &1 3uAeT Har Jar g
The type of drill used for general purpose drilling work is

(@ TypeH (b) TypeN

() TypeS (d) TypeF

3 1340 & 1376



10.

11.

12.

TAGE TG A 919G & a1 HT BT ... gl
The angle between the flanks in trapezoidal thread is

(a) 30° (b) 60° (¢) 90° (dy 118

Wﬁﬁ%ﬁ%ﬁm%@ﬁﬁmmmmmmyumﬂmﬁaa
F T GfHAT FT oo HEd &l

The process of enlarging by finishing previously drilled holes to accurate sizes using a multipoint
cutting tool

(a) QU=T/Boring (b)  @I13eX der=T/Counter boring
(c) &T™aT/Tapping (d) IFTReaming

oy Hg T F @ 7.8 goc ¢, ar 1000 AL =S vd 1 A A & g Me @
gegAE giad e fhaer glem?

If the density of mild steel is 7.8 g/cc, what is the mass per metre of a mild sheet of width
1000 mm and thickness 1mm?

(@ 7.8fFamkg (b)) 7.879M/g (c) 78 f&.amkg (d 78l/g
TFH BEF oo A ST F AT el T GAT 1 3T A S g
A NO-GO plug gauge is used to check the of a hole.

(a) foaer Ta/Lower limit (b)  FURNFAYUpper limit

(c) H%'WFT/Tolerance (d) faae=l/Deviation

zs d f TR § fav R el @& 399 R s g2

Which abrasive is used for grinding die steel?

(a) TAferwSilica

(b) The TIAFIH 3iTerarss/White Aluminium Oxide
(c) @31 TefAfAA JHiwargs/Brown Aluminium Oxide

(d) NI AfFT FE1E8/Green Silicon Carbide

T T e A B R aar

In a grinding wheel “Grade” denotes the

(@) YT TTSoT/Grain size (b) 39t & YR/ Type of abrasive
(c) FoRda/Hardness (d)  E&EAUStructure

4 1340 & 1376
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14.

15.

16.

17

18.

19,

UH TErd &Y ] a7 9Gd Tl B ETHAT H .. Fgd o

Ability of a material to be drawn out into thin wires

(a) 3TETT gYeTadrMalleability (b)  I=FATVDuctility
(¢) THTArToughness (d)  wearEgarElasticity

The accuracy of a vernier micrometer is

(a) £0.1 mm (b) +0.01 mm
(c) %0.001 mm (d  +lmm
iferefiateT fafest areqd Tihe # ..., g £

Oxygen cylinder valve sockets have

(a) @rATEdl ggvLleft Hand Thread

(b) aferomadf TgVRight Hand thread

() =g WS arATad! Ger/Multi start left hand thread
(d) Sg YReT eIl TEMulti start right hand thread

i@ & & Fla-ar sarer e g9 AWS J9AR Sar g2
Which of the following flame combination gives the highest temperature

(a) Oxy-LPG sarar/flame (b)  Oxy - Hydrogen Fdreil/flame
(c) Oxy-Coal gas Farcll/flame (d)  Oxy - Acetylene dardl/flame

afaf@T # ¥ Hl9-1 37ETT Ao HT 3EEI0T 87

Which of the following is an example of non-fusion welding?

(a) T Ae=/Gas welding (b) 31k des/Arc welding
(c) sfSe/Brazing (d) &3sel des=/TIG welding

faf@d & ¥ Fia-ar i 3aes J6 R

Which of the following is not an iron ore?

(a) gATST/Hematite (b)  AIICIST/Magnetite

(c) Ta#HcIET/Cementite (d)  rEfie/Carbonate

Teral dligl A HAlS[E FeeT HUT A A ..o gl

The carbon content in cast iron is in the range

@ 2% to 4% () 0% to02% © 5%t 8% d
5

8% to 10%

1340 & 1376
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22,

23.

24,

25.

.......... 9T TET FeT T 7 30edd 99 g g

Plain carbon steel has maximum strength at

(a) 0.8% FraaA/carbon (b)  0.5% @Te=T/Carbon
(¢) 1.1% FeeA/carbon (d) 1.5 % Faei/carbon

HT JTEETSE BT oo # gRafda &r g

Quenching transforms Austenite to

(a) WUS/Ferrite (b) T&FeEe/Cementite
(c) HEATTST/ Martensite (d) geTEc/Pearlite

Wloled #H I8 &l AT ... & AT fRaT I
In forging a hardie is used for

(a) HR acd gr T &a=T/Cutting heavy hot metal
(b) acd I FI=/Swaging hot metal

(¢) dvd T sh=1/Bending hot metal

(d) d+d 4rd qATH=/Upsetting hot metal

4 TF H T S A SF TER A B & AT TFFd ITRT gl

To true a job precisely in a 4 jaw chuck, the instrument used is a

(a) HZHIFACYMicrometer

(b) afeEX Side digacy/Venier bevel protractor

(c) IR HTUR & WY 3 ¥ gfsdhcv/dial test indicator with a magnetic base
(d) T3 FPEITry square

dor F I F T & Tv RAf@a § & BFasr suAer F60 fear Jan
Which of the following is not used for turning a taper in a lathe?

(@) FFuEs s faf@/Compound Slide method

(b) & TIw HHac fafdTail stock offset method

(c) A gor faffForm tool method

(d) efq Fomss Aey= [T Top slide rotation method

WRETT o #F gl G WT ..o R IR B S g
In a conventional lathe tool post is mounted directly on the
(a) Hse/Saddle (b) 2T Farss/Top Slide
(c) e Temgs/Cross slide (d) ®FI38 We/Compound Rest
6 1340 & 1376



26.

27,

28.

29.

30.

31.

~10,-6,-2, 2, ... BT HF T .ocvverren gl

The list of numbers —10, -6, -2, 2, is

(a) an AP withd=-16 (b) an AP withd = 4
(¢) an AP withd=-4 (d) not an AP

T aed W 15% e, qEN aqg W 20% H P F FAS ol Aol qEI;AT F A A

grom?

A discount of 15% on one article is same as discount of 20 % on a second article. What will be the

costs of two articles?
(a) 100, 120 (b) 60,80
() 80,60 (d) 60, 40

eAfaf@d & & Sia-ar e F 3GI0T 87

Which of the following is an example of a comparator?

(a) afaax Ffay/Vernier Caliper (b)  HBHIACYMicrometer
(c) 3Tad YAIYDial gauge (d) sTaTd FIHA/Steel rule

SefafEg F @ S9-a7 de4, 399 @i dw & frar smar &2

Which of the following welding is done in high vacuum chamber?
(@) el dF desad/Electron Beam Welding |
(b) 3k desal/Arc welding

(c) oY dessi/Laser welding

(d) <13l desa/TIG welding

isd & fatad el # @ S ForeE aur TuRd e §?
Which of the following parts in file is not hardened and tempered?

(a) @rei/Heel (b) BR/Edge
(c) &MTang (d) f3Body
mmm#ﬁmwmﬁwwmaﬁm ........... gl
The overcut teeth angle and upcut teeth angle in a double cut file are
(a) 30° & 60° (b) 70° & 51°
(¢) 60° & 30° @ S*&70°

7
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32,

33.

- 34.

38.

36.

37.

TS THEAT Fr T2arefdr ... o gared gl

The accuracy of a try square is about

(@) 0.002 A wfa 10 AT &e12/0.002 mm per 10mm length
(b) 0.2 9fd 10 A7 d€5/0.2 mm per 10 mm length

(c) 2T 9fd 10 A a2 mm per 10 mm length

(d) 0.02 .. w3 10 .7 @91$/0.02 mm per 10 mm length

MNad FAWR F TIF 3eTdAD ... |

Least count of an inside caliper is

(a) 1 A.#A/mm (b) 2 TAAL/mMm
(¢) 0.1 ./ mm (d 0.5 A.A/mm

RafestaR Iv6 7 fFa R & gsET GATY T 3UATeT fRaT ST 82
Which type of surface gauge is used on cylindrical surfaces

(a) &R gs&r gATFixed type surface gauge

(b) =l T T IS FATI/Movable type surface gauge

(c) Fﬁﬁ?qy&ﬁ gAY/ Universal type surface gauge

(d) Y& g gATLinear type surface gauge

T 3 & U H AN .o & HR-9R fomam Srerm &

The diameter of a drill is measured across the

(a) ¥F/Shank (b) EaWTang

(c) TM=EBody (d) &iALand

FA el Afd F AT, 99 O are 37 & 81 our| o 3 & ol 7 e rpm |
For the same cutting speed, larger diameter drills will have ————— rpm compared to smaller
diameter drills

(a) 3JTadyHigher (b) HATA/Same

(c) TFTayLesser (d) 39dFd # & FIS F/None of the above
fFeafaf@d & @ & 37 v o8 H Fea & v et 39Aer fvar Srar g2

Which of the following is used for cutting keyways and grooves?
(a) I e TEa/Cross-cut chisel

(b) @ATA RF/Flat chisel

(c) a9 AT/ Web chisel

(d) ufder fAga/Punching chisel

8 1340 & 1376



38.

a9

40.

41.

42.

aﬁr%ﬁaﬁv%%somm%%%mﬁﬁﬁﬁ%lmmm
qraATeR 40 TH.AT. %amzomaﬁm@mmm%#mawam%la‘am
qregTE fhaar £

In a vernier caliper 50 divisions of the vernier scale occupy 49 divisions on the main scale. The
main scale reading is 40 mm and 20™ vemier scale division coincides with the main scale. What is
the reading?

(a) 40.4 B3 /mm (b)  40.04 Fr.#/mm
(c) 40.02 fA.#./mm (d) 402 A.#A/mm
TH HAFIOT ............ gl

A right angle is

(@) 540 Whs/seconds (b) 5400 Asc/minutes
(c) 54 fA=Te/minutes (d) 5400 ¥Fs/seconds
T AR G T T2 F, g A .......... gl

In an internal screw thread, the minor diameter is the

(a) 7O T & v f3e fore g &1 eama
Diameter of the hole drilled for forming the hole
(b)  cleh 1 ATg LT AT ForaaR T2 1 ahreT SiraT &
External diameter of the blank on which the threads are cut
(€) T ISV P e & qIG HT THAH ATH
Smallest diameter after cutting the full thread
(d) TSI R & dTE T HaH T3 A
Largest diameter after the threads are cut

9T Yo A Wt II H IFR .......... gl
The form of thread in a buttress thread is
(a) U AR 3° U1 gEdl AR 30° Hr 3=ty

Inclination of 3° on one side and 30° on the other side
(b) T AR 1° qurgHdy 3R 60° Fr 3mAfay

Inclination of 1° on one side and 60° on the other side
(€) W 3R 5° T gE 3R 30° Sy ATy

Inclination of 5° on one side and 30° on the other side
(d) U IR 0° TUT gE R 45° Y 3ty

Inclination of 0° on one side and 45° on the other side

JUATE T2l o faT &r or ... gl
The thread angle for UNF thread is

@@ 30° (b) 60° ©)  55° d 29°

9 1340 & 1376



43.

44,

45.

46.

47.

48.

wuH U, gfadr & gur e & 3o L & HROT AT ¢
The first tap, second tap and bottoming tap differ in their

(a) 3T 3MhR/Thread size (b) =3 f=/Thread pitch

(c) CuX #fg/Taper lead (d) = &1 Y/ Type of thread
T ¢o¥ st IR A S .. gl

The taper in a taper pin reamer is

(@ 1in20 ®)  1in50

(c) 1in75 (d 1in100

12 . oo & A g@rn Jg s¥ud W s Bg a9 e g1 af s madrser 0.3 A
aar ifaarser 0.05 ., a AT & qF Byt Ba = & e 3nfE@a Ber sarw fhdan
grm?

A hole is to be made on mild steel with a 12 mm diameter reamer. If the under size is 0.3 mm and if
the oversize is 0.05mm, what will be the diameter of the drill for drilling the hole before reaming?

(@) 11.65 A.#/mm (b)  12.35 fAa/mm
() 11.70 T.#T./mm (d  12.05 A.FA./mm

T v desa & g saree & 9o & v g A o uge 5 Ay S 2

In oxy acetylene welding which gas is closed first to avoid back fire

(a) 3iFES=/0Oxygen (b) ufafRe=/Acetylene
(¢) 3E=/Argon (d) =msgrs=T/Nitrogen

3ol vfdfea= 3 wcker &, U HAT ........ garT R e §)

In oxy-acetylene gas cutting the metal cutting is done by
(a) 3TF g 3ierdis=/High pressure oxygen

(b) 3= I wiaAfcels/High pressure acetylene

(¢) 3T g9 Arsglist=l/High pressure nitrogen

(d) 3TT &= 3meTeT/High pressure Argon

0.025% & 0.008% Fa I Ay & ... Fga ¢
Iron with 0.008% to 0.025% carbon is known as

(a) RiSe/Ferrite (b) Tdise/Pearlite
(c) TAHACEE/Cementite (d) BIEW IeFerss/Hyper eutectoid

10 1340 & 1376



49.

50.

B,

52.

53.

54.

55.

ST & AU e wifas &g (@ee) ... gl

The lower critical point (heating) for steel is at
(a) 723°C (b) 900°C (c) 1200°C (d) =523 0

In forging a drift is used for

(a) &g @I fga FDrilling a hole

(b) Bfea B¢ @ 937 F=/Enlarging a punched hole
(c) uITEa/Upsetting

(d) @%=I/Bending

T cos A=4/5 &, al tan A & A ......... gl
If cos A = 4/5, then the value of tan A is

@) 3/5 (b) 3/4 (c) 473 d 53

72 &7 ThasTT %, 1887
What % of 72 is 18?7
(a) 4 (b) 25 (c) 40 (dy 2.5

@m%ww&ﬁﬁmﬂ%mﬁmﬁ@aﬁ@ﬁmﬂmﬁwmh

Which of the following is used for scribing large diameter circles or arcs?
(a) H\TUROT $FIE/Ordinary compass (b)  TA9T HFUTE/Wing compass
(c) F&eT FFUrA/Spring compass (d) &1H FHFUrE/Beam compass

g F ¥ 2R U7 N&e A TR Faes ¥ Qv Rea@a § & fasr ga@er Far sar g2

Which of the following is used to drive dowels and rivets out of their holes?
(a) ¥eX da/Centre punch (b) % 9=@/Prick punch
(c) = 9=@/Pin punch (d) @Y 9a/Hollow punch

TF A¢ & diF o & [ov Feafarad & & e yaer Far amar g2
Which of the following is used for locking a nut?

(a) Telel AT2R/Plain washer (b)  FMelIhd arR/Machined washer
(c) & are/Tab washer (d) 29Rd ameR/Tapered washer

11 1340 & 1376



56. ﬁaﬁwmﬁﬂn ............... ﬁmgmml

In a lathe follower, steady rest will be fixed to the

(a) #3/Bed (b) dzeSaddle
(c) T&/Chuck (d) oIS Ep/lead screw

57. ﬁmﬁ@aﬁﬁﬁﬂmqﬁﬁﬁwwsﬂmwwh

Which of the following is an example of indirect angle measuring tool?
(2) sEer YigFet/Bevel protractor

(b) & gAY Bevel gauge

(c) @dfES fder gAY Universal bevel gauge

(d)  37eheT Sqe/Marking table

58. @ e & a1 gt A srenT e F v Mt § ¥ g Rde 1 399 By

ST &2
Which of the following chisel is used for separating metals after chain drilling?

(@) Be% W38 At Rdey/Half round nose chisel

(b) SMFE dige AT R¥S/Diamond point nose chisel
(¢) %7 RAe/Cape chisel

(d) a9 AW Web chisel

59. ﬁ@aﬁmw,mﬁwarwmaaﬁm,aﬁ ........... [

In a chisel, the cutting edge cannot penetrate into the work and slip if
(a) 3T T 3T gClearance angle is high

(b) 39 HIOT T FVClearance angle is low

(©) & ST T35 gURake angle is low

(d) % HIUT YT gVRake angle is zero

60. T 7 &l 3ccRicax sear &, afy ..., |

In a chisel, the cut progressively increases if

(8) ¥ WIOT 3TT gVRake angle is high

(b) 3E= 0T g @V/Clearance angle is zero

(c) 39St U 3TT gClearance angle is high
(d) 3MATT HOT T BVAngle of inclination is low

A 12 _ 1340 & 1376



g1;

62.

63.

64.

65.

66.

B7:

1.25 = & @19 M10 & Ueh aTed <31 & Ficded & [oIT Seleh & AT ... g
For cutting an external thread of M10 with 1.25 pitch, the diameter of the blank will be

(a) 9 A.AL/mm (b)  9.875 . A /mm
(c) 10.125 fA.#H./mm (d) 10.5 A.#A./mm
sEaTe Srae 0.8% F1éT AlS ¥, 3 e e ¢

Steel which contains 0.8% carbon is called

(a) gTEUICHeiss ¥ra/Hypoeutectoid steel

(b) gEULFISs FeraHypereutectoid Steel
(c) Jeaciss EreEutectoid Steel
(d) @oral dIgr/Cast iron

gEaTd & v e sifas fag (fdere) ... gl

The lower critical point (cooling) for steel is at
(a) 723°C (b)) 693°C (&) 923°C (d 593°C

wiotel Sfshar, ol as 9 &1 oaTS HI g ST § U 3T F1C 8T H G S §
2 A ed ol

The forging process in which the length of a work piece is reduced and its cross sectional area is
increased is known as

(a) EdSIe/Swaging (b)  9IHA/Upsetting
(c) &a=i/Cutting (d) aeImIfeEaFolding

RATET A R T Fge F 9= & fov Feafof@d § F 9 eR &1 3varer fFar aar 8
Which of the following tool is used to get a fluid-tight joint in riveting?

(a) EARET eMmM/Hammering tool (b)  PeRer 3SFullering Tool
(c) ¥doie 3EUSwaging tool (d) Rdc BTRivet set

Tsh 7SS T IREE HIOT ............. gl

The enclosed angle of an Octagon is

(@ 120° ) 135° ©  140° @) 144°

UF HHATT VSl H1 URF 10 A 1 30h HA-A-hl & 3SR (FHaT) FAT §?

The side of a regular hexagon is 10 mm. What is the corner to corner size?

(a) 30 (b) 20 ) 1732 @ 25

13 1340 & 1376



68.

63,

20

71

Y i

73.

74.

IGEICIEor A= g A , oI & FE 4R WEITF 8T L

One of the following is not a work holding accessory of a lathe

(@) HY ufgahnFace Plate (b)  Hege/Mandrel
(c) T ufgeCatch Plate (d)  ¥e% Afeger TF/Self Centring Chuck

T TR & FAv, Al Sol A IHG SWE F07 suet | w1 e s
& fav fva waf@a frar s

For rough turning the stock tools with following approach angles are available. Which will be
selected for maximum depth of cut?

@) 30° (b) 28° @ 0° d 25°

wmﬂ@aﬁrﬁmﬁ#ﬁmﬁmﬁﬁa%ﬁﬁ#mmmﬂﬁ
Of the following tapers, which is best for quick releasing of an arbor

(a) 0.625" TPF (b) 0.6" TPF

(c) 3.5"TPF (d)  2°51'51" included angle

fFefafad # @ et Fo1 A & BT s siem S

Which of the following is an instrument for indirect angle measurement?

(@) e gATdBevel Gauge (b) e WigrFeyBevel protractor
(c) WIFT We/Combination set (d) @3 IR/Sine bar

fefaf@d & @ Fia-ar s doza ywa

Which of the following is an exothermic welding process?

(a) WfEr des=T/Resistance welding (b) ¥F IT3/Gas welding

(c) 3 FeET/Arc welding (d)  uffT =1/ Thermit welding

e 8% I 36 0N R qur amre IR 36 1M Y o s ST . B
If the hole size is 36 **®Y*%%! and shaft size is 36 **%2*0935 the minimum interference is

(@) 0.035 A.#HA./mm (b)  0.014 . /mm

(c) 0.001 A.#A./mm (@ 0.022 A /mm

I gerdf & Mgt F AT IF HOT grem|

When turning ductile materials the rake angle will be

(a) A YaTcHS/Less Positive (b)  &H MUNcHASH/Less Negative

() 3T&F erATcHs/ More Positive (d) & HoTEAS/More Negative
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A cylinder has a diameter of 12 mm and the height is 12 mm. What is the surface area?

(a) 2007 mm?’ (b) 216 x mm’

(c) 144n=n mm? (d) 432 7 mm*

TF gas SgreT 1200 fRA. €T ve I & U 1 g9 & odr g1 AT g@T aIfd S Jerer

aifa ¥ 100 fF.#T 9fYy ger dorar Arar &1 gars SigreT 1 @rereT afd fhas g2

An aeroplane takes 1 hour less for a journey of 1200 km., if its speed is increased by 100 km/hr
from its usual speed. The usual speed of the aeroplane is

() 280 demvhr (b) 290 km/hr
(c) 270 km/hr @ 300 kvhr
1+tan?30
e RIS s gl
1+t 30 .
The value of 1_tzzz30
al = | b 1
@ b ' @ 12

20 A, e ud 30 AL SO § gFT US AF A IS v 87
What is the volume of a cone having diameter 20 mm and height 30 mm?
(a) 1200w (b) 5S00=

(¢) 1000 m (d 3333=

PQR & f¥®or &, ior PQR GHAFIUT &1 PRQ HIT 60° § T ured PR &1 &far$ 20 &1 9red

QR #T =18 fRa=r grfe
In a triangle PQR, the angle PQR is a right angle. The angle PRQ is 60° and length of side PR is 20.
What is the length of side QR?

@@ 10 () 20
) 40 @ 15

S U SR & &g F A F9T Jar g, d....

When a tool is set below the centre, the
(a) MY Y& HOT gear g/Top rake angle decreases

(b) ¥ Y& VT Sgar g/Top rake angle increases
(c) o Y& o A A YR =161 &1 o/ Top rake angle does not change
(d) MY IF FUT FONcAS &7 STl o/ Top rake angle becomes negative
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